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QUESTION 1

The SCSI protocol communication is based on the initiator-target model, encapsulated SCSI of iSCSI protocol also
inherit its initiator and target communication model. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

After the host start multipath failover, what abnormal phenomena may have? 

A. ping-pong effect 

B. can\\'t eliminate the shadow of disk 

C. path can\\'t switch 

D. system will turn blue 

Correct Answer: A 

 

QUESTION 3

The FC SAN topology of fiber optic network, which are include? (Select three Answers) 

A. point-to-point 

B. arbitration ring 

C. switching topology 

D. hybrid network 

Correct Answer: ABC 

 

QUESTION 4

In FC arbitration ring architecture, when the device is join or exit, do not have effect on other devices of the ring. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 5

About the iSCSI protocol, which description of the following are right? (Select three Answers) 

A. iSCSI is based on IP protocol proposed by Microsoft technical standards 

B. iSCSI support users through its access IP SAN storage network 

C. iSCSI essence is SCSI commands and data transmission in IP frame format 

D. iSCSI protocol based on SCSI and TCP/IP 

Correct Answer: BCD 
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